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Function0l Answers for No.9790

.1 ="a Function"
2 ="NOT a Function"
.3 ="a Function"
.4="NOT a Function"

AnsZ—[ d={(-5,45),(-4,27),(-2,3),(0,-5),(2,3),(5,45)) }
TL2={(-5.6M12) ), (-4, 7N1/2) ), (<2,3), (0, 11N1/2) ), (2, 13%1/2) ), (5,4) }

i ; {Df: Set of all Real number}_

Ansl =|°

R = >=_2
1=14 ={y |y }
2=-5 :{Df:{x|x>=0}
3=-2 .1 ="a Function" ' R={x[x>=0}
Ans3 = Ansd = : AnsS =
ns3 4 =undefined | 54 [2 ="a Functlon"} > Ans 5 D={x|x=/=-2}
5=1 PE R={yly=/=0)

L.6 = undefined

4:[Df={x|x>=-3}}
R={yly<=0}
Ans6=(R={y|-73<y<=8})
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Function0l Answers for No.9888

.1 ="a Function"
Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"

.4 ="a Function"

Ans2—[ A={(-4,61),(-1,1),(0,-3),(1,1),(2,13),(4,61)} }
CL2={(4,2%2:1/2) ), (-1, 11N1/2)), (0, 2%3N1/2) ), (1,131/2)),(2,14N1/2)),(4,4)}

} [Df:{x|x=/=2}}

] ] T|R,= =/=0
b ={yly /
2=11 P
3=5 I ="a Function" R={y|y<=0}

Ans3 = 4=71 AnS4:[2:"NOTaFunction"}’ , Ans3 = D={x|x>=0}

S5=7 CR={x|x>=0}
6=0

L. i [D = Set of all Real number}

L R={yly>=1)

Ans6:(Rf:{y|-54<y<= 10})
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Function0l Answers for No.9926

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

p 2_[ d={(-5,103),(-3,39),(-1,7),(0,3),(1,7),(3,39)} }
ML 221 (-5,6M1/2)), (-3, 2%271/2) ), (-1, 10%1/2) ), (0, 1IN1/2) ), (1, 2*351/2) ), (3, 147(1/2) ) ]

{Df: Set of all Real number}_
R={yly<=-1}

Ansl =

A=7
.2 = undefined 5o [Df: {x|x=/=3}
J3=- .1 ="a Function" . R={yly=/=0}
Ans3=| 4y b o Ansd _[2 — "y Function"}’ , Ansd = D= {x|x>=2}
D=3 LR={y1y>=0}
6=0

- - _[Df:{x|x>=0}}
[ R={yly<=0}

Ans6 =(R,={y|-8<=y<73})
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Function0l Answers for No.10106
.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

P 2_[.1 =L (-5, 10M1/2) ), (-3, 2%3751/2) ), (0, 15N1/2) ), (1,4), (3, 3%271/2) ), (5, 2*5A(1/2))}}

nse= 2={(-5,95),(-3,31),(0,-5),(1,-1),(3,31),(5,95))

i ]:{Df:{x|x>=0}}
R={yly<=0/}

Ansl =

- I=10 ] |
.2 = undefined :[Df: (x|x>=-2]
3=-1 .1 ="a Function" R={yly>=0}
Ans3 = 4 =undefined | Ansd = [2 ="a Function"} , Ansd = {sz Set of all Real number}
6_'5;2 ) L R={yly>=1)
L.6 = undefined | ':Df: x| x=/= _2}}
L R={yly=/~0}

Ans6 =(R,={y|-9<=y<72})
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Function0l Answers for No.10139

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

A={(-4,91),(-3,49),(0,-5),(3,49),(4,91),(5,145)} }
2={(-4,3),(-3,10N1/2)),(0,13~1/2)),(3,4),(4,17%1/2)), (5,3*21/2) )}

i ; D={x|x>=0}
T R fxx>=0)
2:[Df={x|x>=1}
.1 ="a Function" R={yly<=0}
o AnS4_[2:”a Function"}’ A= |:Df: {x|x=/= '3}}
LR={y|y==0]}
L. J {D = Set of all Real number}
R={yly>=1}

Ans2 z[

Il
N O

Il
1
(98]

Ans3 =|"

N AR~
I
O = =

Ans6:(Rf:{y|-36<y<= 13})
X [Page = 0005] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXXXKXXKXXKXKXKX KX KX KX KX KKK KX KX KX XX KX KK KKK KX KX KX KX KX KK KKK KK KKK



D ERVERHNCIVIIENED $.0:0:0.0:0:0.0:0:0.0.0:0.0.0:0.0:0:0.0.0:0.0.:0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.0:0.0.9:0.0.0:0.0 ¢ Y LT WA o F A N IET 0 N0 10 [ 01590 ¢
Function0l Answers for No.10356

.1 ="NOT a Function"
.2 ="a Function"
Ansl = .3 ="a Function"
.4 ="NOT a Function"
s _[.1 = (-4, 2%21/2) ), (-1, 1IN1/2) ), (0, 2%3%1/2) ), (1, 13%1/2) ), (2, 14%1/2) ), (4, 4)}}
e= 2={(-4,82),(-1,7),(0,2),(1,7),(2,22),(4,82)]}

; [Df:{x|x>=]}}
_1:3_ ‘ _Rf:{y|y>:0}
2=-8 ZZ[D,.:{xu:/:J}
3=-2 .1 ="a Function" . R={yly=/=0}

Ans3 = 4=0 P Ans4 _|:2 =g Function"l 5 Ans5 = |:Df: Set Ofall Real numbe}f}
éig B Rf:{y|y<=]}
L.6=0] [Df:{x|x>=0}}
L - Rf‘:{y|y<:0}
Ans6=(R,;={y|-8 <=y <8})
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Function0l Answers for No.10366

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

e — d={(-3,33),(-1,1),(0,-3),(1,1),(3,33),(5,97)} l
M= 2=y (-3, 1IN12) ), (-1, 1351/2) ), (0, 14~1/2) ), (1, 1551/2) ), (3, 17%1/2) ), (5, 1951/2) ) }.

Di={x[x<=0}
ST 'J{Rf={y|y<=0}}
2 = undefined _ {Df: Set of all Real number}
_ _n o R,= <=-]
Ans3 = A4 ='Lfn:iej?ned ’ , Ansd = ['1 ._2 Iz\I %TFTIE;?SE?H } , Ans>= D;: ; )JC; ||))C} =/= '2}}
5=6 '3:{Rf={y|y=/=0}}
L.6 = undefined | D, = [x|x>=2)
i 4{Rf={y|y>=0}}

Ans6 =(R,={y|-42<y<=7})
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Function0l Answers for No.10706
.1 ="a Function"

Ans] — .2="NOT a Funct%on"
.3="NOT a Function"
.4 ="a Function"
An52:|: A={(-4,53),(-1,8),(0,5),(1,8),(3,32),(4,53)} }
2={(-4,111/2)),(-1,14N1/2)), (0, 151/2)),(1,4),(3,3*21/2)), (4, 19N1/2))}
i ; [sz Set of all Real number}_

R={yly>=-2}

A=4
.2 = undefined P ‘:Df: {x[x<=0}
3=3 .1 ="a Function" ' R={yly<=0}
Ans3 = 4=3 > Ansd= [2 ="NOT a Function"}’ > Ans3 = D.={x|x>=-1}
5=6 L R={yly>=0]

6=1+2h _ _{szmx:/:s}}
R={yly=/=0}

Ans6 =(R,={y|-3<y<=13})
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Function0l Answers for No.10899

.1 ="a Function"
.2="NOT a Function"
Ansl = }
.3 ="a Function"
.4 ="NOT a Function"
Ans2:[ A={(-3,23),(-2,8),(0,-4),(1,-1),(2,8),(3,23)} }
2={(-3,10N1/2)), (-2,111/2)), (0, 13~1/2)), (1, 141/2)), (2, 1571/2)),(3,4)}
i ]Z[Df:{x|x>=2}}
R={yly>=0}

A=2
2 = undefined :[Df: Set of all Real number
3=3 .1 ="a Function" R={yly>=-2}
Ans3 = 4=-4 7 AnS4_[2="a Function"}’ , Ansd = D={x|x=/=2}
5=-10 “R={yy=/-0;
6==2h
i [Df:{x|x<=0}}
U R={y|y <=0/

Ans6:(Rf:{y|-7<=y< 74 })
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Function0l Answers for No.10907

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

Ansl =

P 2_[ d={(-4,101),(-1,11),(0,5),(1,11),(3,59),(4,101)} }
PSEZ 2oy (-4, 107102) ), (-1, 1351/2) ), (0, 14%1/2) ), (1, 15%1/2) ), (3, 17N1/2) ), (4, 3%27(1/2) ) }
]Z{sz{x|x=/=2}}
.2 = undefined 2:{Df: {x[x<=07
3=- .1 ="a Function" ' R={yly<=0}
Ans3 = 4=4 7 AnS4_[2="a Function"} , Ansd = D, = Set of all Real number
D=4 L R={yly<=-3}
6=0
- - [Df:{x|x>=2}}
U R={y|y>=0/

Ans6 =(R,={y|-8<=y<28})
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Function0l Answers for No.10951

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

AnsZ—[ d={(-3,43),(-2,18),(-1,3),(0,-2),(2,18),(3,43)} }
TL2=4(-3,2%351/2) ), (-2, 13M1/2) ), (-1, 1471/2) ), (0, 15N1/2) ), (2, 1751/2) ), (3, 3%27(1/2) ) }

[sz Set of all Real number}_

Ansl =

/=29 R={yly<=2}
.2 = undefined :|:Df: {x[x>=0]
3=2 .1 ="a Function" ' R={yly<=0}
Ans3 = 4 =undefined | Ansd = [2 ="NOT a Function"}’ , Ans3 = D={x|x=/=-3}
S=1 LR ={yly=/=0}
L.6 = undefined_

4:{Df:{x|x>=1}}
R={yly>=0}
Ans6=(R.={y|-42<y<=7})
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Function0l Answers for No.11058

.1 ="a Function"
Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"

.4 ="a Function"
y 2_[ d={(-5,45),(-2,3),(-1,-3),(0,-5),(1,-3),(2,3)} }
4= 0= {(-5,2%2N1/2) ), (-2, 11°(1/2) ), (-1,2*3N1/2)), (0, 13~1/2)), (1, 14~1/2)), (2, 157(1/2))}
'I{Df: {x|x>=-3}}
T 25 R={yly<=0/}
2=4 _{Df={XIx<=0}
3=4 .1 ="NOT a Function" ' R={x|x>=0}
Ans3 = 4 =undefined | Ans4—[ .2 ="a Function" } , Ans3 = 5 D, = Set of all Real number
5=18 L R={yly>=3}
L.6 = undefined._ ‘4:{])‘[: {x|x=/= _1}}
i R={yly=/=0}
Ans6 =(R,={y|-8 <=y <56})
X [Page = 0012] :
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Function0l Answers for No.11139

.1 ="NOT a Function"

Ans] — 2="a Function'"
.3 ="NOT a Function"

.4 ="a Function"

p 2_[.1:{(-5, 2%01/2) ) (-4, 3), (0, 13%1/2) ), (1, 14%1/2) ), (4, 17%1/2) ), (5, 3*2A(1/2))}}
8= 2={(-5,73),(-4,46),(0,-2),(1,1),(4,46),(5,73)}

{Df: Set of all Real number}_

F s L R={yly>=-1}
2=2 2:{Df={XIx=/=-2}
3=2 .1 ="a Function" R={yly=/=0}

Ans3 = 4=50 AnS4_[2="NOTaFunction”}’ » Ans> = D={x|x>=3]}
5=9 | R={yly<=0]
6=2h
-6=2h Dy=fx|x>=0]

L T R=txlx>=0)

Ans6:(Rf:{y|—73<y<:8})
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Function0l Answers for No.11142
.1 ="a Function"
2 ="NOT a Function"
.3 ="a Function"
.4="NOT a Function"

e _[.1 =/ (-3, 2%3N1/2) ), (-2, 13N1/2) ), (-1, 14~(1/2) ), (0, 1551/2) ), (2, 17%1/2) ), (3, 3*2A(1/2))}}
8= 2={(-3,47),(-2,22),(-1,7),(0,2),(2,22),(3,47)}

Ansl =|°

y {Df:{x|x>=l}}
S R ={y|y<=0}
2=-1 P
3=-3 .1 ="NOT a Function" C LR {xlx>=0/
Ans3 = .4 = undefined | Ans4:[ .2 ="a Function" }’ , Ans = [sz Set of all Real number}
6_.5:d-7 . B Rf:{y|y<=1}
L.6 = undefined {Df: {x|x=/=-1 }}
i LR={yly==0}

Ans6 =(R,={y|-9<=y<40})
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Function0l Answers for No.11193
.1 ="a Function"

Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"
.4 ="a Function"

P _[.1 =L (-4, 10N1/2)), (-3, 1IN1/2) ), (0, 14~1/2) ), (1, 15%1/2)), (3, 17%1/2) ), (4, 3*2A(1/2))}}

8= 2={(-4,50),(-3,29),(0,2),(1,5),(3,29),(4,50)}

i ]{sz{x|x<=0}}
' R={x|x>=0}

A =-4
.2 = undefined 2:|:Df: {x|x>=1]
3=3 .1 ="a Function" ' R={yly<=0}
Ans3 = 4=2 > Ansd= [2 ="NOT a Function"}’ , Ans3 = 5 D={x|x=/=2}
D=2 LR={yly==0)
6=0 |

L {Df: Set of all Real number}
R={yly>=-3}

Ans6:(Rf:{y|-]] <=y<38)})
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Function0l Answers for No.12037

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ansl =

P 2_[1 — (-3, 10%1/2)), (-2, 1IN1/2)), (0, 1371/2) ), (2, 15%1/2) ), (3. 4), (4, 17A(1/2))}}
e= 2={(-3,39),(-2,19),(0,3),(2,19),(3,39),(4,67)
i ; [sz Set of all Real number}_
N L R={yly>=3}
s 2:[Df={x|x=/=2}
3=-5 .1 ="NOT a Function" ' R={yly=/=0}
Ans3 = 4 =undefined| ° Ans4—[ .2 ="a Function" } , Ans3 = D={x|x>=-2}
5=-10 o R={yly<=0}
_.6:undeﬁned_ B Df: {x|x>: 0}
i R={x]|x>=0}

Ans6:(Rf:{y|-]3 <=y<5l})
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Function0l Answers for No.12111

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

A={(-5,122),(-4,77),(-1,2),(0,-3),(1,2),(5,122)} }
2={(-5,3),(-4,1071/2)), (-1,13~1/2)), (0, 14~1/2)), (1, 15~1/2)), (5,19°(1/2))}

{Df: Set of all Real number}_
R={yly>=1}

Ansl =

Ans2 z[

d=-7
2=-1 .2:{2f=§x‘|x=j=éﬂ
3=-1 .1 ="a Function" =AY T/
Ans3 = 4 = undefined| ~ AnS4:[2="a Function"}’ , Ansd = {fo— {x|x>= 0}}
S5=-6 | R={yly<=0]
.6 = undefined | |:Df: {x|x>=3}}
R={y|y>=0}

Ans6:(Rf:{y|—29<y<: 7))
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Function0l Answers for No.12116
.1 ="a Function"

.2="NOT a Function"
Ansl = " .
.3 ="a Function
.4 ="NOT a Function"
4 2_[ A={(-4,101),(-3,59),(-2,29),(0,5),(2,29),(4,101)} }
s = 2={(-4,111/72)), (-3,2*%3N1/2) ), (-2,13N1/2)), (0, 151/2)),(2,17N1/2)), (4, 191/2))}

i ; {Df:{x|x<=0}}
_ - 4T R.= >=
1=-16 = {x|x>=0/
2=-10 5 D, = Set of all Real number
3= 1 ="a Function" o R={yly>=3}
Ans3=\ b AnS4:[2:"NOTaFunction"}’ , Ans3 = ; D={x|x>=2}
5=0 | R={yly<=0]
| .6=—h] {Df:{x|x=/=3}}
| R={yly=/=0]

Ans6 =(R,={y|-9<=y<40})
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Function0l Answers for No.12179

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"

.4 ="NOT a Function"

y 2_[ d={(-4,44),(-3,23),(0,-4),(3,23),(4,44),(5,71)} }
T 2= (-4, 7:1/2) ), (=3, 2%271/2) ), (0, 1IN1/2) ), (3, 1471/2) ), (4, 1571/2) ), (5, 4) }
]z{Df:{x|x<=0}}
R={yly<=0/
2-6 :{sz Set of all Real number

3=6 .1 ="a Function" R={yly<=-1}

Ans3 = A4=61 AnM_[Qz”aFunction"}’ , Ansd = D ={x|x=/=-3}

=8 TLR=(yly==0)
6=nh

L.6=h_ 4_|:Df:{x|x>=1}}
O R={yly>=0]

Ans6:(Rf:{y|-52 <y<=12})
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Function0l Answers for No.12324

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

) 2_[.1 ={(-5,2%271/2) ), (-3, 1071/2) ), (0, 13%1/2)), (3.4), (4, 17%1/2)), (5, 3*2A(1/2))}}
e= 2={(-5,97),(-3,33),(0,-3),(3,33),(4,61),(5,97)}
i ]_{Df:{x|x>=]}}
_ e - _Rf:{y|y>:0}
.2 = undefined 2:{Df: {x|x>= 0}}
3=7 .1 ="a Function" ' R={yly<=0}
Ans3 = A4=1 , Ansd :[2 ="a Function"}’ , Ansd = _[Df: {x|x=/=-1 }}
D=2 LR={yly=/=0}
6=—h

L . {Df: Set of all Real number}
R={yly<=3}

Ans6:(Rf:{y|—55<y<:9})
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Function0l Answers for No.13087

.1 ="a Function"
Ans] — .2="NOT a Funct%on"
.3="NOT a Function"
.4 ="a Function"
Ans2=[ A={(-3,29),(-1,5),(0,2),(1,5),(3,29),(5,77)} }
2={(-3,2%21/2) ), (-1, 10%1/2)), (0, 11~1/2)), (1,2*3N1/2)),(3,14~1/2)),(5,4)}

i ; {Df: Set of all Real number}_

1:6 Rf:{y|y>:_2}
2=27 2:[Df:{x|x>=0}
3=-5 .1 ="a Function" R={x[x>=0}
Ans3 = Ans4 = ) AnsS =
3 4=57 > Ansé [2=”a Functlon”}’ , Ans3 ; {Df: [x|x>= ]}}
D=3 TR ={yly<=0]}
L .6=0

] 4:{Df:{x|x=/=—2}}
LR ={yly==0}
Ans6=(R;={y|-9<=y<55})
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Function0l Answers for No.13339

.1 ="a Function"
2 ="NOT a Function"

Ansl = .3 ="a Function"
.4 ="NOT a Function"

g [ L= (2,30 (<1 10Y1/2)) (0, 1171/2)), (1, 2*371/2)) (2, 13X1/2)), (4, 15X1/2)) ]]
=l 2={(2,10),(-1,1),(0,-2),(1,1),(2,10),(4,46)} ]
i {Df: Set of all Real number}_

_ /<9 - - Rf:{yly<:]}

2=9 2:[Df:{x|x>=3}

3=35 .1 ="a Function" ' R={yly>=0}

Ans3 = 4 =undefined | ’ AnS4_[2="a Function"} , Ansd = 5 D={x|x<=0/

] .5;6 ) ' _Rf:{y|y<=0}

|.6 = undefined | :[Df:{xu:/:_z}}
R={yly=/=0}

Ans6:(Rf:{y|-]0<=y< 71})
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Function0l Answers for No.13340
.1 ="a Function"

Ans] — .2="NOT a Function"
"55=1 3= "NOT a Function"
.4 ="a Function"

p 2_[.1:{(-4, 3),(-3,10M1/2)), (-2, 111/2) ), (0, 13%1/2) ), (3. 4), (4, 17A(1/2))}}
8= 2={(-4,46),(-3,25),(-2,10),(0,-2),(3,25),(4,46) ]

, {Df:{x|x>=0}}
C s ’ R={x|x>=0}
.2 = undefined 2:|:Df: {x|x>=1]
3=-7 .1 ="NOT a Function" ' R={yly<=0}
Ans3 = 4=-13 | Ans4—[ 9 — "3 Function” l , Ans5 = ) Dy={x|x~/-3)
S5=-13 _Rf:{y|y=/=0}
6=0 {Df: Set of all Real number}
L R=E{yly>=3}

Ans6 =(R,={y|-9<=y<27})
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Function0l Answers for No.13350

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ansl =

P 2_[.1 (-4, 10712) ), (-3, 1INI/2) ), (0, 14N1/2) ), (2. 4), (3, 17°172) ), (4, 3*2A(1/2))}}
o= 2={(-4,91),(-3,49),(0,-5),(2,19),(3,49),(4,91)}
i ; [sz Set of all Real number}_

R L O R={yly<=-2}

.2 = undefined 9= [Df': {x|x>=-1}

3=5 .1 ="NOT a Function" . R={yly>=0}

Ans3 = 4 =undefined| ° Ans4—[ .2 ="a Function" } , Ans = 5 {sz {x|x<= 0}}
6_.5=d1; ] T R={yly<=0/}
L.6 = undefined. :{Df:{x|x=/=3}}

L R={yly=/=0}

Ans6:(Rf:{y|-7] <y<=10})
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Function0l Answers for No.13361

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

) 2_[ A={(-5,119),(-4,74),(-2,14),(0,-6),(4,74),(5,119)} }
M 2= (-5,3), (-4, 1071/2) ), (-2, 2%3~1/2) ), (0, 1451/2) ), (4, 3%271/2) ), (5, 19%1/2) ) }
i ~ [Df: Set of all Real number}_

L R={yly<=1}

Ansl =

[ 1=-4]
2= 5o D={x[x>=3/}
3=-1 I ="a Function" TR ={y]y<=0}
Ans3 =|" Ans4 = ) . AnsS =
ns3 A4=-50 54 [2 ="NOT a Functlon"}’ > Ans [Df: {x|x=/=3 }}
=3 R={yly==0}

-6=0] D,={x|x<=0}
TIR={x|x>=0]

Ans6:(Rf:{y|-]2 <=y<37})
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Function0l Answers for No.13396

.1 ="a Function"
Ans] — .2="NOT a Funct%on"
.3 ="NOT a Function"

.4 ="a Function"

s d=/(-3,13),(-2,3),(0,-5),(2,3),(3,13),(5,45)} l
PSEZ 2 (=3, 1IN12) ), (=2, 2%3751/2) ), (0, 14N1/2) ), (2, 4), (3, 17°1/2) ), (5, 19%1/2) ) 1
‘]{sz{xu::-z}}

C oy T R={yly=/=0}
2=-10 2:{Df:{x|X>:']}
3=-2 .1 ="a Function" ' R={yly<=0}

Ans3 = 4 =undefined | ’ AnS4_[2="a Function"} , Ansd = {sz Set of all Real number}

6_'5;? ) L R={yly<=2}

|.6 = undefined] . D,={x|x <=0}

R={x|x>=0}

Ans6:(Rf:{y|-]2 <=y<69})
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Function0l Answers for No.13406
.1 ="a Function"

.2="NOT a Function"
Ansl = .
.3 ="a Function"
.4 ="NOT a Function"
P 2_[1 = (4, 2%2:1/2) ), (-3, 3), (-1, 1IN1/2) ), (0, 2%351/2) ), (3, 1571/2) ), (4, 4)}}
e 2={(-4,61),(-3,33),(-1,1),(0,-3),(3,33),(4,61))
/- D={x|x>=0}
Ry={x|x>=0]
2:[Df:{x|x=/=1}}
Ansd _[.1 ="a Function"} AnsS — R,= {yly=/=0}
7 - L.2="aFunction" ’ a [szSet of all Real number}
R={yly<=-1}
L.6=0] {sz {x|x>=—2}}
L R={yly<=0}

Ans3 =|"

ST T .
[
S 0 00 A W

Ans6 =(R,={y|-29<y<=7})
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Function0l Answers for No.13433
.1 ="a Function"
2 ="NOT a Function"
.3 ="a Function"
.4="NOT a Function"

e _[.1 =L (-5, 10N1/2) ), (4, TIN1/2) ), (-3, 2%3~(1/2) ), (0, 1551/2) ), (4, 19%1/2) ), (5, 2*5A(1/2))}}
nse= 2={(-5,105),(-4,69),(-3,41),(0,5),(4,69),(5,105)}

Ansl =|°

I ]=[Df:{x|x=/=3}}
[ 1=3 ] O R={y Iy =/=0}
2 = undefined | :sz {x|x:=§ﬂ
Ans3 = j ; 2 o Ansd= [ 2 ':1"1_\102}1:; Ilii;[;l?:?ion"}’ , Ans3 = 3 [sz Sfet o?c/zlyli?eal number}
5=0 3= _ .
L 6=-3-h | lii:?;vc“;vm:éi
i 4{Rf={y|y<=0}}

Ans6 =(R,={y|-8<=y<28})
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Function0l Answers for No.13473

.1 ="a Function"
.2="NOT a Function"
Ansl = )
.3 ="a Function"
.4 ="NOT a Function"

P 2_[.1 =L (-5, 2%281/2) ), (-1, 2%351/2) ), (0, 1371/2) ), (1, 14%1/2) ), (3,4), (5, 3*2A(1/2))}}
nse= 2={(-5,121),(-1,1),(0,-4),(1,1),(3,41),(5,121)}

I ; {sz{x|x=/=l}}
SR " R={yly=/=0}
2 = undefined _ {Df: Set of all Real number
3=-1 .1 ="NOT a Function" R={yly<=-2}
Ans3 = 4=-1 C 7 Ans4—[ .2 ="a Function" }’ > AnsS = ; D={x|x>=-3}
S=-7 T sz{y|y>=0}
6=-2h
' ) {Df:{x|x>=0}}
L - R={yly<=0}
Ans6 =(R,={y|-5<y<=11})
X [Page = 0029]
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FunctionOl Answers for No.13485
.1 ="a Function"
.2="NOT a Function"
Ansl = " o
.3 ="a Function
.4 ="NOT a Function"

ines _[.1 =L (-5,10M1/2)), (-4, 1IN1/2) ), (0, 15%1/2) ), (3, 3%251/2) ), (4, 1951/2) ), (5, 2*5A(1/2))}}
o= 2={(-5,119),(-4,74),(0,-6),(3,39),(4,74),(5,119)

} [sz {x]|x =/=3}}
"] CR={yly=/=0}
2=:5 2{D¢{x|x<=0}
3=- .1 ="a Function" ' R={yly<=0}
Ans3 = 4=-37 , Ansé = |:2 ="NOT a Function":l’ » Ans3 = {Df: Set Ofall Real number:|
S5=-3 L OR={yly<=-3}
_.620_ |:Df:{x|x>:‘2}}
. R={yly>=0}

Ans6:(Rf:{y|-]3 <=y<68})
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Function0l Answers for No.14126

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4 ="NOT a Function"
A={(-4,7N1/72)), (-1,10%1/2)), (0, 1IN1/2)), (1,2*3N1/2)), (3, 141/2)), (4, 15A(1/2))}}
2={(4,35),(-1,5),(0,3),(1,5),(3,21),(4,35)}
i {Df: Set of all Real number}_
9 '2:{Df:{x|x=/=-]}}
1 ="NOT a Function" R={yly=/=0}
.2 ="a Function" {Df: { x| x>=2}}
: R={yly<=0}
L.6=6—h] D={x|x>=0}
Ry={x|x>=0]

Ansl =

Ans2 :[

Ans3=| = , , Ans4=[' }, , Ans5=

Ans6:(Rf:{y|—28<y<:8})
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Function0l Answers for No.14148

.1 ="NOT a Function"
.2 ="a Function"

.3 ="NOT a Function"
.4 ="a Function"

p 2_[ d={(-5,123),(-4,78),(-3,43),(0,-2),(4,78),(5,123)]} }
M 2= 1(-5,6M1/2) ), (-4, 7N1/2) ), (-3, 2%271/2) ), (0, 11N1/2)), (4, 1571/2)), (5., 4)}

Ansl =

} {Df:{x|x<=0}}
o CR={x|x>=0}
2=-9 5 D={x[x>=3/}
=-6 1="NOT a Function" T R={yly<=0}
Ans3 = 4=9 [ Ans4:[ .2 ="a Function" }’ ; Ansy = D ={x|x=/=2}
S=-11 _Rf:{y|y=/=0}
b6==2h
L . {Df: Set of all Real number}
- R={yly<=2}

Ans6 =(R,={y|-18<y<=7})

X [Page = 0032] XXXXXXXXXXXXXXXXXXXXXXXKXKXXXXKKKXXXKXKXKXXXKKKXKXXKKKKKXKKKKXXXKKKXK KK KKKK KX KKKK XK KKK KKK KKK KKK KKK KX KKKKKX
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Function0l Answers for No.14313

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

p 2_[ d={(-5,97),(-4,61),(-2,13),(0,-3),(2,13),(5,97)} }
TCT L 220(-5,3), (-4, 10N1/2)), (-2, 2*351/2) ), (0, 14X1/2) ), (2,4), (5, 19X1/2) ) }

i ; {Df: Set of all Real number}_

Ansl =

]=2 Rf={y|y>=2}
2=1 _[Df:{x|x=/=2}
3=-12 .1 ="a Function" o Rf: {y|ly=/=0}
ns3 .4 = undefined | > Ansé [2 ="a Functlon"}’ > Ans3 ; {Df: {x|x>=-1 }}
0 =18 CTLR=(yly>=0)
L.6 = undefined

4:[Df={x|x>=0}}

R={yly<=0}
Ans6:(Rf:{y|-54<y<= 10})

DRI (SHE NIV ICH D 9.0:0.0.9.9:0:0.0.0.0.9:0.0.0.0.0.0:0:0.0.0.0.0:0:0.0.0.0.0.9:0:0.0.0.0.0.9:0.0.0.0.9.0:0.0.0.0.0.0:0.0.0.0.:0.0.9:0.0.0.0.0.0:0.0.0.0.0.9.0.0.0.0.:0.0.0:0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.9:0.0.0.4
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Function0l Answers for No.14370

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ansl =

y 2_[ A=¢(-4,37),(-3,23),(0,5),(2,13),(3,23),(4,37)} }
e= 2={(-4,2%2Y1/2) ), (-3,3),(0,2%3N1/2) ), (2, 14N1/2) ), (3, 15N1/2) ), (4,4)}
]:[Df:{x|x==-3}}
- - R: =/=
FIRT: y={yly=/=0}
2=10 2:{1?1:{“”:0}
3=-5 .1 ="a Function" . R={x|x>=0}
Ans3 = 4=-10 5 AnS4_[2:"aFunction"l , Ansd = ; {Df:SetofallRealnumbe}/}
S =- Tl R={yly<=2}
L.6=0] |:Df:{x|x>:3}}
L R=E{yly<=0}

Ans6:(Rf:{y|-5] <y<=13})
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Function0l Answers for No.14377

.1 ="NOT a Function"
.2 ="a Function"
.3 ="a Function"
.4="NOT a Function"

Ansl =

P 2_[ d={(-5,73),(-2,10),(0,-2),(2,10),(4,46),(5,73)} }
M= 2= f(=5,3),(-2,2%3%1/2) ), (0, 147(1/2) ), (2, 4), (4, 3*271/2) ), (5, 19%1/2) ) }
I Jz[sz{xu::-zq |
WS R={yly=/=0}
2=3 ZZ{Df={XIx<=0}}
3= .1 ="a Function" ' R={yly<=0}
Ans3 = 4=0 AnM:[Jz"aFunction"l , Ans3 = _{sz SetofallRealnumber}
S=- L OR={yly>=-3}
.6 =—h] :|:Df:{x|x>=]}:|
R={yy>=0}

Ans6:(Rf:{y|-]3 <=y<5l})
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Function0l Answers for No.14430

.1 ="NOT a Function"
Ans] — .2 ="a Function"
.3="NOT a Function"
.4 ="a Function"
A={(-5,95),(-4,59),(-3,31),(0,-5),(3,31),(4,59)} }
2={(-5,7412)),(-4,2*2Y1/2) ), (-3,3),(0,2*3%1/2)),(3,15"1/2)),(4,4)}
i ‘]:{Df:{x|x<=0}}
Ry={x|x>=0]

Ans2 :[

d=1
2-29 {Df: Set of all Real number
3=-9 .1 ="a Function" - R={yly<=2}
Ans3 = 4 = undefined| Ansd = [2 ="a Function"}’ , Ansy = D={x|x>=-2}
2= L R={yly<=0}
L.6 = undefined | {Df: {x|x=/=-1 }}
LR={yly=/=0]}

Ans6:(Rf:{y|-39<y<= 10})
X [Page = 0036] XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXKXKXXXXXKXXKXXXKXKX KX KX KX KX KKK KX KX KX XX KX KK KKK KX KX KX KX KX KK KKK KK KKK
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Function0l Answers for No.14432

.1 ="NOT a Function"
.2 ="a Function"

Ansl = .3 ="a Function"
.4 ="NOT a Function"
4 2_[.] ={(-3,111/2)),(-2,2%3N1/2)),(0,14~1/2)),(2,4),(3,17%1/2)), (4, 3*271/2))}}
8= 2={(-3,31),(-2,11),(0,-5),(2,11),(3,31),(4,59)}
]Z{sz{x|x>=-1}}

— - R.= <=

1=-13 ={y|ly<=0}
2=-6 ZZ{D,F{XIP:O}
3=-6 .1 ="a Function" ' R={x|x>=0}

Ans3 = 4=6 s 5 Ans4—[2: "o Functionn:l: , AnsS = ; {Df: Set Ofall Real number:|

5 =-8 Tl R={yly>=-1}
6=—h

- - {Df: {x]|x=/= -3}}
i R={yly=/=0}
Ans6 =(R,={y|-72<y<=9})
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